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RMS Emitt. = 0.18 eVs BF = 0.349 — RMS Emitt. = 0.19%92 evVs BF = 0.312 —
90% Emitt. = 0.678 eVs = 6, 00FR12 [ 90% Emitt. = 0.73 eVs = 6.81F12 >
Mtchd Area = 0.83 eVs Duration = 574 ns v Mtchd Area = 0.915 eVs ([ Duration = 369 ns v
RMS dp/p = 1.79E-3 f50;1 = 1740;1430 Hz = RMS dp/p = 1.26E-3 £50;1 = 1290;1060 Hz =

The first number (fs0) is the synchrotron frequency in the center of the bucket, the second one
(fs1) is the synchrotron frequency of the particles with large synchrotron amplitudes
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Translate into synchrotron tunes...
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™ Wrep @380 = 923 kHz " Wyer@cd480 = 1299 kHz
vsQc380 = wg /wyey = 0.0019 < 15@Qc480 = wy/wyey = 0.001
Av;Qc380 = —0.00031 L Ar;@c480 = —0.00018




